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d 170 P Gmymg (175)
T (170) - g= 9.8m/s* (180)
o 2L (171) W = Fd (176)
1 G=67x10""  (181)
AL : b (172) KE = imv2 (177)
a= Fnet (173) GPE = mgh (178)
e . _ Output work <100%
W Efficiency = 1, out energy o
p=mv (174) sty (179) (
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Question 1 A planet moving in uniform circular motion
/@ is obeying the law of inertia
is accelerated
is moving with a constant velocity

is moving with zero acceleration

Question 2 What is the efficiency of a machine that produces 400 J work by consuming 1000

J of energy? B j/;)v% X \oo
20% 8 10% 250% D] 80% ener Y\
‘ . o0 e
Question 3  In today’s understanding, what causes the day and the night? I — A\
-

[A] Because of the shadow of the moon covering the earth at night __\ o

[B] Because of the earth moving around the sun in elliptical orbit =70

. because of the motion of the sun around the earth
@Because of the spinning of the earth about itself
Question 4 An ob]ect initially located at z; = —2 m is found at zo = 8m after 5 seconds.
What is the velocity of the object? X2 - ﬂ\ \

-4 m/s B] -8 m/s %" 2 m/s D] 3m/s = §- k -1
Question 5  What is the bpeed ofa 15 kg obJect if its momentum is 225 kgm/s? ke \n_
V, . ™M 2\n AR - ):) - ‘2'
[A] 45 m/s [B] 30 m/s 125 m/s B 15 m/s
- M DYk — §{ X f\\

Question 6 A tennis ball is hit with a racket. During the short time the ball and the racket

\

are in contact, . i \

¥ }) :'\ DML T v

only the racket pushes the ball e F xR

‘ﬁthe racket and the ball push each other-equally/ ) 1’7 5. \5

the ball pushes the racket harder ‘ ot
— veomal _ T2

@ the racket pushes the ball harder L7 T = The

&

Question 7  Which of the following statements best describes the acceleration of an object
whose motion is changing?

@ Its acceleration is not zero

@ Its acceleration is equal to its velocity

Its acceleration is not defined

@ Its acceleration is zero
Question 8  Which of the following statements describes retrograde motion? During retrograde
motion

the stars appear to be moving backwards

[E the sun slows down and planets speed up

the moon appears larger and with reddish color

@ planets appear to be moving backwards
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: an object. How much does the energy of
Question 9 An external force does 95 ] of work on an obj

the change’

It changes by 50 J
[B] It does not change

Question 10 Which of the following is mot a correct deseription of the motion of an object
. o —
under the influence of an_external force?

An object whose acceleration is increasing-

@ An object whose motion is changing ~

An object whose acceleration is not zero -
gﬁn object whose velocity is constant

Question 11 In Qopﬁs} theory, ,Mars)

orbits the earth in uniform circular motion

_@orhi'@s the sun in uniform circular motion

orbits the earﬁh in ary elliptical orbit ;

[D] orbits Jupiter in uniform circular motion y
7

Ylestion 12 A ball is thrown up in vacuum (i.e., ignore air). While the ball is rising,

both its kinetic and potential energy decrease
[E its kinetic energy increases while its potential energy decreases

AC[its kinetic energy decreases while its potential energy increases

@ both its kinetic and potential energy increase

Question 13 If the motion of an object is changing, \ )
1 = e

@ its velocity must be changing- /5y
@ its speed and direction must be unchanging s ‘ ‘?
its velocity must be constant .
|l_:)__] it must be obeying the law of inertia .

= /? -

4 :
Question 14 How does the force of gravity between two objects change if tha distance between

them is halved (ie., 7 — r/2) without their masses changing?

It decreases four times > My

II?»] It decreases to a half

It doubles

ﬁlt becomes four times bigger
is douh_leh, without

Question 15 How does the kinetic energy of an object change if its speed

its mass changing?
\ i A)Hvb
It gets smaller four times BT 1t gets bigger four times ’\\\' = e 1
It gets smaller two times (D] It gets bigger two times \4 L _32, M \./Q

KL
a b
m (1)
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@ fact LY !
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Question 16 ACC(yding to Kepler, planets move in

elliptical orhyrs with the sun at the center
v
V%
Prat

@ rectangular orbits with the sun at the ;/ntvr
circular orbits with the sun at the eenter !
) ge]liptical orbits with the sun at a focus . : \a\

N

gk

QuEStIOI] \f llﬂt i'\\_‘ the Illl\gllit,l] ()l 'h(' I()I( ¢ nee (ll (1 te (I(} !I J ' ’ W rl-( I (] q l

I.; V , 2. l.l(} L C [Ce e )y 1€ }’ ac “g an
Object by my B i ! ) ) ) ]

9 + 7 .l//

L.

N
s Uk z ¢
/

;ﬁa 5N [j 4.5 N ﬂ|45N ll 25N ’ ; -
Q~<i-‘
A T2

to do )()m) I of

Question 18  How long does a maching whose power rating is 2500 W take

? \ 2
work? £=9 (SR AY e W e e 'ﬁl ) a y
4 25 [ 02 w
25 0.5s D] 25s VW 5
. ‘ =t . (a0
Question 19 The weight of an object whose mass is70kgis  ZOY\o . O’;:__&
(\O A=

5N [B] 600N 50 N %7@01\1
Q_uestion 20- What is the mass of an object whose potential enegy increases by 400 J if it is
raised to a height of 5 m? M7 GPE =Yoo § Wb GPE =i \
-Man
C’Tl‘ \ A | &

%’Skg [B] 80ke [C] 25 kg D] 4kg A
N GPE

S —

A car is traveling at 90 km/h. How long dge;sqit take the car to travel 540 km'7 c&
- -’ : al h

-,V-QC 4

4@ 6 h [B] 4h 2 h D] 25h »-_,if‘cl’ — Uoo

f

O
f
(V)

The speed of a 10-kg object \Yv\hose kinetic energy is 320 J is

KE=Y
\ 4 m/s @ 2m/s ﬁSm/S [D] 16 m/s
e z

The reason the earth’has four scaqons is

Question 22

Question 23
- [A]| because of the earth’s changing di
@ because of the sea,aonal chiange of
. [C] because of the motion of the moon

/@ because of the tilt of the axis the earth spins abou

:.taute from tlle sun

t}‘le surfdce temperature-of the sun

around the earth

I

force is acting on an object, then

Questlon 24 Ifno external
ﬁits accelaration must be zero
IE its speed must be changing

its mass is equal to zero
@ its velocity can only be zero

d motion?

Question 25 Which of the following motions does Aristotle consider forced force

Falling

’"@ Motion of a ball rolling horizontally

Motion of the planets
Rising of flames
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